(3)

(5)

(7)

(9)

Mixed Equations

Date:

7X + 11
=11
-6
-137 = 3x - 7(-x + 11)

-315 =

-564 =

-505 =

-9(-7x - 7)
-6(-9x - 5)
-5(-9x + 11)

(2) -“5X- 4(-4x + 11) = -176

(4) 255 = -5(-8x + 13)

(6) 336 = -8(-6x - 12)

(8) 3=—7--1

(10) ~5X+ 32 = -48
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(3)

(5)

(7)

(9)

X+ 11
=11
"6
Ix + [ = -66
Ix = -77

x= "~/

-137 = 3x - 7(-x + 11)
137 =3x+ Tx - 77
137 = (0x - 77
60 = [0x
6 = x

-315 = -9(-7x - 7)
35=-Tx =7
42 = -7x
6=y

-564 = -6(-9X - 5)
It =-9x -5
99 = -9x
[l =x

-505 = -5(-9x + 11)

[0l = -9x + [/
90 = -9x
(0= X

Mixed Equations
ANSWER KEY

(2)

(4)

(6)

(8)

(10)

-5X - 4(-4x + 11) = -176
“5x + [6x — 44t = -[76
[Ix - 44 =-(76
[Ix=-132
Xx= 12

255 = -5(-8X + 13)

336 = -8(-6X - 12)
42 = -6x - (2
-30 = -6x
=X

“BX + 32 = 48
-5x = -80
Xx =16
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